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STANDARD 8TH: CHAPTER 2  

Parallel lines & transversal 

 
Q1. Select the correct option. 

 

1. If two distinct lines are intersected by a transversal, then which if the 

following statement is false 

a) Four pairs of corresponding angles are formed. 

b) Four pairs of alternate angles are formed. 

c) Four pairs of interior angles on the same side are formed. 

d) Two pairs of interior angles on the same side are Supplementary. 

 

 

2. In the figure, if 𝐴𝐵 ∥   𝐻𝐹 and 𝐷𝐸 ∥  𝐹𝐺, then the measure of ∠𝐹𝐷𝐸 is ____. 

 
a) 600 

b) 900 

c) 300 

d) 500 

 

 

3. In the figure, if  𝑟𝑎𝑦 𝐶𝑃 ∥ 𝑟𝑎𝑦 𝐵𝑄, ∠𝑄𝐵𝐴 = 1000, ∠𝐶𝐴𝐵 = 250, ∠𝑃𝐶𝐴 = 𝑥0 

then value of x is  

 
 

a) 750  

b) 1000 

c) 250 

d) 1250 
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4. In the figure, if  𝑟𝑎𝑦 𝐴𝐵 ∥ 𝑟𝑎𝑦 𝐸𝐹 and with the information as shown, the 

value of x is_________. 

 
a) 900   
b) 700 
c) 620 
d) 550 

 

 

5. If the transversal intersects two parallel lines such that the ratio between 

the interior angles on one of its sides is 3:7 then the measure of smallest 

interior angle is____. 

a) 540   

b) 780 

c) 800 

d) 1260 

 

 

6. In the figure, 𝑙𝑖𝑛𝑒 𝑙 ∥ 𝑙𝑖𝑛𝑒 𝑚, 𝑙𝑖𝑛𝑒 𝑝 𝑖𝑠 𝑡ℎ𝑒 𝑡𝑟𝑎𝑛𝑠𝑣𝑒𝑟𝑠𝑎𝑙 If 𝑟 = 200then find a:b 

(Simplest Form) 

 

a) 2: 4   

b) 2: 16 

c) 1: 8 

d) 3: 4 

 

7. If two complementary angles are in ratio 13:5 then the angles are 

a) 550 𝑎𝑛𝑑 350   

b) 750 𝑎𝑛𝑑 150 

c) 700 𝑎𝑛𝑑 200 

d) 650 𝑎𝑛𝑑 250 
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8. For what value of x point B lies on AC if 𝐴𝐵 = 𝑥 + 3, 𝐵𝐶 = 2𝑥 𝑎𝑛𝑑  
𝐴𝐶 = 4𝑥 − 5  
a) 5   

b) 3 

c) 2 

d) 4 

 

 

9. Find ∠𝐴𝐵𝐶 

 

 

a) 780   

b) 1200 

c) 1080 

d) 1180 

 

 

10.  A pair of Interior angles lies____________________. 

a) To one side of transversal and Inside parallel lines. 

b) To the opposite sides of the transversal. 

c) To outside parallel lines. 

d) Inside parallel lines and opposite sides of transversal. 

 

 

 

Q2. Solve the following. 

 

1. In the figure, 𝑙𝑖𝑛𝑒 𝑙 ∥ 𝑙𝑖𝑛𝑒 𝑚 𝑎𝑛𝑑 𝑙𝑖𝑛𝑒 𝑛 ∥ 𝑙𝑖𝑛𝑒 𝑝 . Find ∠𝑎, ∠𝑏, ∠𝑐 

 
            

 

 



                                                                                                  ©Jnana Prabodhini Educational Resource Centre 

 

2. In the following figure ∠𝑎 ≅ ∠𝑏 𝑎𝑛𝑑 ∠𝑥 ≅ ∠𝑦. Prove that, 𝑙𝑖𝑛𝑒 𝑙 ∥ 𝑙𝑖𝑛𝑒 𝑛 

 

 

 

3. In the figure, 𝑖𝑓 𝑙𝑖𝑛𝑒 𝐴𝐵 ∥ 𝑙𝑖𝑛𝑒 𝐶𝐹 𝑎𝑛𝑑 𝑙𝑖𝑛𝑒 𝐵𝐶 ∥ 𝑙𝑖𝑛𝑒 𝐴𝐷 𝑡ℎ𝑒𝑛 𝑝𝑟𝑜𝑣𝑒 𝑡ℎ𝑎𝑡 
∠𝐴𝐵𝐶 = ∠𝐹𝐷𝐸 

 
 

 

4. If the bisectors of the pair of alternate angles framed by a transversal with 

Two given lines are parallel then prove that the given lines are parallel. 

 

 

5. In the diagram below, 𝑚∠𝐴𝐵𝐶 = 500and 𝑚∠𝐾𝐼𝐽 = 800 

 
Find: 𝑚∠𝐸𝐵𝐼, 𝑚∠𝐵𝐼𝐸, 𝑚∠𝐵𝐸𝐼, 𝑚∠𝐺𝐸𝐼 
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6. In the following figure ∠𝑎 ≅ ∠𝑏 . Prove that, 𝑙𝑖𝑛𝑒 𝑙 ∥ 𝑙𝑖𝑛𝑒 𝑚 

 
 

7. In the figure line PS is transversal of parallel line AB and line CD. If ray QX, 

ray QY, ray RX and ray RY are angle bisectors then prove that ∎𝑄𝑋𝑅𝑌 is a 

rectangle. 

 

 

8. If 𝑙 ∥ 𝑚, what is the value of x? 

 
 

 

9. In the given figure, line p || line q and line l and line m are transversals 

Measures of some angles are shown. 
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Hence find the measures of ∠a, ∠b, ∠c, ∠d. 

 

10. Prove that if two lines which are parallel are intersected by a transversal 

then the pair of interior angles on the same side of the transversal are 

supplementary. 


